SA EXAM PAPERS | This past paper was downloaded frmge_rf.co.za

SA's Leading Past Year

You have Downloaded, yet Another Great
Resource to assist you with your Studies ©

Thank You for Supporting SA Exam Papers

Your Leading Past Year Exam Paper Resource Portal

Visit us @ www.saexampapers.co.za

A EXAM




education

MPUMALANGA PROVINCE
REPUBLIC OF SOUTH AFRICA

NATIONAL
SENIOR CERTIFICATE

GRADE 12/ GRAAD 12

MATHEMATICS P1 / WISKUNDE V1

JUNE /JUNIE 2024

MARKING GUIDELINES / NASIENRIGLYNE

MARKS / PUNTE: 150

The marking guideline consists of 11 pages.
Die nasienriglyne bestaan uit 11 bladsye.

Copyright reserved/ Kopiereg voorbehou Please turn over / Blaai asb om




Mathematics P1

2

MDE/June 2024

NSC /NSS Marking Guideline /Nasienriglyn

TAKE NOTE:

e Ifacandidate answered a question TWICE, mark only the FIRST attempt.

e Ifa candidate crossed out an answer and did not redo it, mark the crossed-out answer.
e Consistent accuracy applies to ALL aspects of the marking guidelines.

e  Assuming values/answers in order to solve a problem is unacceptable.

LET WEL:

o As 'n kandidaat 'n viaag TWEE keer beantwoord het, sien slegs die EERSTE poging na.

As 'n kandidaat 'n antwoord deurgehaal en nie oorgedoen het nie, sien die deurgehaalde antwoord na.

[ ]
o Jolgehoue akkuraatheid is op ALLE aspekte van die nasienriglyn van toepassing.
e  Dit is onaanvaarbaar om waardes/antwoorde te veronderstel om 'n probleem op te los.

QUESTION 1 / VRAAG 1

1.1.1 x> —49=0
(x+7)(x-T7)=0

x=-Torx=17

v

factorisation/faktorisering

v’ answers 2

112 | x+4HB-x)>0
(x+4)(x=3)<0

xe(—4;3)

—4<x<3 o— o
>
OR/OF -4

v" method/metode
v’ values/waardes

v notation/notasie

€)

.13 | (x+4)(3-x)=5
—x’—x+12=5

—x*=x+7=0

x2+x-7=0

B e 01

B 2(1)
—1+V§§

YTy

x=2,193 0r x=-3,193

—1 for rounding
(3 decimals)
—1 as nie
afgerond tot 3
desimale

v’ standard form

v/ substitution into correct
formula

substitusie in regte
formule

v 2,193
v —3,193 (4)

L21 Jx+2=x-4
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x+2=(x—4)° v'squaring both sides
Y+2=x2—8x+16 kwadreer beide kante
2 - 14=
zc 3)x(+ 2) _0 0 v standard form
x * 3 v’ factors/faktore
x=Torx#2 v x=7only @)
3
1.22 | 2x 3 =64
v divide by 2/ deel deur 2
5
x3=32
3
5Ys
[x 3} = (25) v’ exponential law
eksponentwet
x=2"
x= 1 v  answer 3)
8
1.3 x=-14+2y v x=—142y
(-1+2y) =7-y*=—y v substitution of x
1-4y+4y?=7—3*+y=0 v standard form
3y2 ~3y-6=0 v factorising/faktorisering
P-y-2=0 :
Y-y v both y-values / beide y-
»y-2)(y+D=0 waardes
y=2 or y=-1
Xx=-1422) or x=-1+2(-1) v both values of x /beide
_3 -3 x-waardes (6)
1.4 2*=1-2p
2*>0
For real solutions: 1-2p>0 v1-2p>0
Vir reéle oplossings: —2p > —1
1
p< 5 v answer 2)
1.5 _ 9-3p
p+1
1.5.1 | To be undefined / Om ongedefinieerd te wees
. p-l—l:O \/p:_l (1)

Copyright reserved/ Kopiereg voorbehou

Please turn oyer / Blaai asb om




NSC /NSS Marking Guideline/Nasienriglyn

p=-1
1.5.2 | To be rational/Om rasionaal te wees
p=0 (M=+y9=3) v any of the 2 values of p
OR p=3 [ M= \/§ _ OJ enige van die 2 waardes
4 van p (1)
[26]
QUESTION 2/ VRAAG 2
2.1.1
5 -2 -7 -10
-7 -5 -3
2 2 va=1
sb=-10
2a=2 3)+b=-7 a+b+c=5
v c=14
a=1 b=-10 c=14
_ 2
T,=n"-10n+14 v' T, answer 4
212 | w2 1on+14<-11 v substituting —11
n*—10n+25<0 v standard form
(> =5)2 <0 v factorise
This is not true for any value of 7, thus the sequence will conclusion
not have a term less than —11. v i
/gevolgtrekking 4)
22 dd
a:L; d:L; n=180 vaan
181 181
.. The sequence is arithmetic/die ry is rekenkundig v substitution/substitusie
180 1 1
Sigo = 7[%@) + M(l 79)} =90 v answer (3)
23.1 =1,
r=11=1 v
10
7, =1,21(1,1)" v substitution into 7,
=3,452271214 v/ answer )
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2.3.2 g 1,21(1,1" = 1) va=121
2111 v substitution
=25,87498336
~ 25,875 v answer A3)
2.4 | For the series 1+4+7+10+............... +22
T =1+3(n-1)
22=3n-2
v n=38
son=38
For the series 3+9427............ +6561 7y
]vn :3(3)n—1 :3n v n
Therefore the sum in sigma notation:
8
z 3k ; 2 v'sigma notation 4)
o 3
25 _4x* 16
2x -4
_(2x-4)(2x+4)
2x -4
=2x+4
v r=2x+4
-l<r<l v —1l<r<l
—-1<2x+4<1 v —1<2x+4<1
5 3
v ——<Xx<-— 4
— E <x< —E 2 2 ( )
[23]
QUESTION 3/ VRAAG 3
31 | —4x+6=0
—4x*=-6
3
2_ 2
Y73 vl
x=x= é
2 v'x coordinate of A
3 — \/E =-1,22 (2)
x-coordinate of A is — \/g =-1,22 2
3.2 Max / maks TP = (0; 6), v Max TP
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~fx) <6, ~f(x)+8

v Answer ()

3.3 Length of CBD =—4x? +6—(—2\/—x)
=—4x" +6+2V—x

v’ difference/verskil
v’ answer )

34 Max length: Derivate/afgeleide = 0
1
CBD'(x)=—-8x+ (%}(2)(—)@ 2
1
—8x+(-x) 2 =0

1

—8x=—(—x) ?
64x2=(—x)" = !
x

xsz—i
64
1
xX=—=
4
1Y 1
Max length =—4| —— | +6+| 2|  |-| ——
4 4
_27_63
4 4

v derivative/afgeleide

v equate to 0/stel gelyk aan 0

v'simplification/vereenvoudig
ing

v’ answer for x
v’ substitution / substitusie

v  answer (6)

3.5 g(x)=-2v-x
For inverse h: x=-2,/—y

v’ change x and y ruil x en y

om
x> =4(-y) v’ simplification /
2 vereenvoudig
y=——; x<0
v’ equation / vergelyking
v x<0 4)
3.6 k(x) :—(—2\/—x) L, |
=2J=-x;x<0 answet 1
3.7 —-6<k<0 v’ values/waardes
v notation/notasie 2
[19]
QUESTION 4/ VRAAG 4
4.1 =3 vVx=3
=2 vy=2 2)
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4.2 y=2"+1=2 y-intercept / y-afsnit: (0; 2)

vx=0
v (0;2) (2)

4.3
0=—2 42
—-1+3
L 4
2
a=—+4

fO) =42
x+3

v’ substitution of p and ¢

v substitution of (—1;0)

v value of a

v’ equation 4

4.4 y=—(x+3)+2

v’ substitution

y=—-x-1 v’ equation )
4.5 domain of / definisieversameling van4 f'(x — 2)

xeR; x#-1 v v ox#-1 (2)
4.6 h(x)=2" v’ equation ()

4.7 h'(x)=log, x

v v log equation (2)

3 JeR v’ answer (D
4.9 —3<x<-1 v'values
v'notation 2
[18]
QUESTION 5/ VRAAG 5
5.1 A=P(1-in)
. x(l_ 0)125_,1) f\; rsmuEf;itution into correct
0,125n=1
n=_8 years/ jaar v’ nvalue (2)
5.2.1 i\
1+i, =| 1+
eff ( m j

1+0,073=(1+ ’%)4

Y1073 —1 = len

4
0,017770...= lnom
4

inom = 0,07108 ...
Rate = 7,108%

v’ Substitution into correct
formula

v" Use of surd
Vi =0,07108..

v Rate 4)
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522 A=25000(1+0,073)>° (66 months = 55years) v/ substitution into correct
= R36833,12 formula
v’ 5,5 years
v’ answer (3)
5.3 60 v’ first bracket substitution
xX= 100000(1 + 0’g6j +100000(1 + —01(2)6)36 v second bracket
=R157701,71 substitution
~ R157 700 v ' R157 701,71
v R157 700 4)
5.4 8 10 \/8 and 10
A=500 1+O’084 1+O’O79 8
4 2 v[1s 0,084
=R 86 980,30 4
10
‘/(1 N 0,()79)
2
v answer 4)
[17]
QUESTION 6/ VRAAG 6
6.1 f(x):Z—?ax2

f(x+h)=2-3(x+h)

S(x+h)=2-3(x* +2xh+h?)
=2-3x> - 6xh—3n°

f'(X):limf(x-i-h) —f(X)

h—0 h

_ i [2235 —6xh =312 - (2-3x)]

f'(x) lim h
f%x):£232_3x2—6xh;3h2—2+3xz
()= tim =300
() = lig S50

o 6x

v substitute/ vervang

Sfx+h)

v’ correct substitution into
formula and notation

v simplification

v’ common factor
gemeenskaplike faktor

v’ answer (5)
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6.2.1 4
f(x)=x—+x0 -t
2
f'(x)=2x*+0-0 v 23
=2x3 v 0 (2)
6.2.2 30 4 {/x_z )
Dx B — v 3Yx?=x°
X
3 X
= D -4 — _E
X x2 x2 ] v _§x 5
5
=Dx[—3x+x?J V3
g
s v_%.7s
_ 3 8. 5% 4
5
6.2.3 _ 8x*-125
4 2x -5 . .
(2x — 5)(4x? +10x +25) v'factorisation/faktorisering
= v answer
2x -5
=4x?>+10x+ 25
ay _ 25 +10 v'derivative/afgeleide  (3)
dx
[14]
QUESTION 7/ VRAAG 7
7.2 (xZ —Ax+ 4)(x n 3) =0 v factorise/faktoriseer
(x=2)(x-2)(x+3)=0 vV (x=2)(x=2)(x+3)=0
x=2 or x=-3
B(2;0) v B(2;0)
v AB is 5 units 4)
.. AB = Sunits
7.3 f"(x)>0 s S'(x)>0
6x—2>0 v6x—2>0
1
x> vVx>— 3
3 3 3)
7.4 3 2
1 1 1 1
—|={=|-|=| -8 =|+12
GRGRERE
v - ¢oerdinate
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2%
27
2
RORTE
3 3 3 v gradient
25
=——=m
3
25
y=—"x+c
3 / b . .
250  25(1 substitution
—=-=|=|+c
27 3\3
325
c="-
27
__25 +325 v'equation
37 27
73 k >1gﬂ or k<0 v'V'two answers
27 2)
7.6 x>-3, x#2 v x>_3
vVix#2 2)
[19]
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QUESTION 8/ VRAAG 8
8.1.1 S
v 2
v 4;6;8
v 3;5;7
v 159
4)
8.1.2 No, AuB=#1 v No
v reason (2)
8.1.3 n(AUB)'=2 v  answer (1)
, 1
8.1.4 P(Even and prime) = ) v answer )
8.2 P(Male and Speeding) = 398 =0,398 \/ﬁ =0,398
1000 1000
615 603 v 0,37
P(Male) X P(Speeding) = —— x ——=0,37 ’
(Male) X P(Speeding) = 1006 1000 v oz
P(Male and Speeding) # P(Male)x P(Speeding v’ conclusion /
= Not independent / nie onafhanklik gevolgtrekking 4)
[12]

TOTAL / TOTAAL: 150



